SAMPLE QUESTIONS: C_HCP_10

SAP Certified Development Associate - SAP HANA Cloud Platform (Edition 2016)

Disclaimer: These sample questions are for self-evaluation purposes only and do not appear on the actual certification exams.
Answering the sample questions correctly is no guarantee that you will pass the certification exam. The certification exam
covers a much broader spectrum of topics, so do make sure you have familiarized yourself with all topics listed in the exam
competency areas before taking the certification exam.

Questions

1. What is used by the extension application to get access to the extended SAP solution?

Please choose the correct answer.

a) o BAdIs
b) o IDocs
c) o APIs

d) 0 BAPIs

2. The Internet of Things Services cockpit is the main interface for users to interact with the Remote
Device Management Service (RDMS).

What role do you need to access it?

Please choose the correct answer.

a) o loT-Administrator
b) o loT-Developer
c) o loT-Basic

d) o loT-User




3. How long is a Log record available on the central Log server on the SAP HANA Cloud Platform, before it
is deleted?

Please choose the correct answer.

a) o 5 days
b) o 14 days
c) o 10 days
d) o 7 days

4. What is the main use case for SAP Gateway OData services?

Please choose the correct answer.

a) o To get data from an SAP XS service

b) o To extract data from SAP Business Suite
c) o To receive data from the SAP Web IDE

d) o To download data from an SAP Ul service

5. How does SAP HANA change the way of developing and executing applications?

Note: There are 2 correct answers to this question.

a) o Aggregation of data can be done "on the fly"; less copy of data
sets

b) o Definition of more indices is needed because of column storage

c) o Data is compressed based on column storage

d) o Offline data access for OLTP and OLAP with in-memory
computing




6. Which are key benefits of SAP HANA as a Service besides the in-memory database?

Note: There are 2 correct answers to this question.

a) o Additional engines and services of SAP HANA can be loaded into
the SAP Web IDE and executed there.

b) o Several libraries and engines are included in SAP HANA to
support real-time operations.

<) o SAP HANA supports the execution of program code of all layers
in the cache of the local machine.

d) o SAP HANA offers extended application services.

7. For which scenarios can you use the SAP HANA cloud connector?

Note: There are 2 correct answers to this question.

a) o SAP on-premise landscapes — SAP Service-as-a-Service products
b) o Internet cloud services — SAP HANA Cloud Platform
<) o SAP on-premise landscapes — SAP HANA Cloud Platform

d) o SAP HANA Cloud Platform — SAP Cloud-as-a-Service products




8. Which options for integration scenarios exist with SAP HANA Cloud Platform, integration service?

Note: There are 2 correct answers to this question.

a)

O

SAP HANA Cloud Platform, integration service provides the option to set up
integration scenarios for cloud-to-cloud, hybrid scenarios, on-premise-to-on-
premise, or between SAP and non-SAP products.

b)

SAP HANA Cloud Platform, integration service provides the option to build custom
adapter for your integration scenarios using the functionalities available in the Web
ul.

SAP HANA Cloud Platform, integration service provides the option to build custom
adapters using the Eclipse tool with the development plug-in.

d)

SAP HANA Cloud Platform, integration service provides the option to import full
scenarios from SAP Process Orchestration.

9. Which connection type can you use to create a connection to your business data within the service
layer of SAP HANA Cloud Platform, mobile service for development and operations?

Please choose the correct answer.

a) o IDoc

b) o File

c) o HTTP(S)
d) o RFC




10. Which SAP HANA Cloud Platform (HCP) editions are available for medium-sized businesses?

Note: There are 2 correct answers to this question.

a) o Professional edition

b) o Premium edition

c) o Single application edition

d) o Standard edition

e) 0 Multiple application edition




Solutions

1 a) Incorrect

2 a) Incorrect

3 a) Incorrect

4 a) Incorrect

5 a) Correct

1 b) Incorrect

2 b) Incorrect

3 b) Incorrect

4 b) Correct

5 b) Incorrect

1 c) Correct

2 c¢) Incorrect

3 ¢) Incorrect

4 c) Incorrect

5 c) Correct

1d) Incorrect

2 d) Correct

3 d) Correct

4 d) Incorrect

5 d) Incorrect

6 a) Incorrect

7 a) Incorrect

8 a) Correct

9 a) Incorrect

10 a) Correct

6 b) Correct

7 b) Incorrect

8 b) Incorrect

9 b) Incorrect

10 b) Incorrect

6 c) Incorrect

7 c) Correct

8 c) Correct

9 c) Correct

10 ¢) Correct

6 d) Correct

7 d) Correct

8 d) Incorrect

9 d) Incorrect

10 d) Incorrect

10 e) Correct

Want to learn more? Contact SAP for more information.



http://www.sap.com/contactsap/

